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Answer: A 

QUESTION: 58 
If a map contains two input cards with default settings and the second card fails 
validation, what happens to the map execution? 

A. The map fails.
B. The map executessuccessfully.
C. The map execution continues the mapping process.
D. Trace and Audit log will turn on to capture the error.

Answer: A 

QUESTION: 59 
Which of the following items apply to the two statements here? ?Pre-built 
templates that comply with the latest standards and data validation ?Decrease 
implementation time 

A. Industry Packs
B. Enterprise Packs
C. Imported Type Trees
D. Trees created from scratch

Answer: A 

QUESTION: 60
 
Which setting has the MOST negative impact on map performance?
 

A. Backup
B. Audit Log
C. Map Retry
D. Map Trace

Answer: D 

QUESTION: 61 
Which Design Studio function CANNOT be completed using command line 
utilities? 
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A. Export type trees and maps.
B. Compile maps for the z/OS platform.
C. Logical and Structuralanalysis of type trees.
D. Create a type tree using the text file importer.

Answer: D 

QUESTION: 62 
Which WebSphere Transformation Extender stand-alone engine has the following 
characteristics? 

✑ Can be run on a variety of platforms
✑ Can be triggered bya time event
✑ Can run multiple instances of the same map at the same time

A. Launcher
B. Map Designer
C. Command Server
D. Web Sphere Transformation Extender for Application Programming

Answer: A 

QUESTION: 63 
The example here shows three records of afile. Each record is terminated with a 
<NL> character. The file is not limited to a specific number of records. 

CMS Business Systems S30093467390212200815AN<NL> CMS Business 
Systems S40073617390628200817NN<NL> CMS Business Systems 
S40073617390628200817NN<NL> 

The type tree has been constructed with two groups named File and Record. 
Which of the following options BEST defines the format and component syntax 
properties for the two groups? 

A. The File component is defined as Format= Explicit and Component Syntax =
Fixed; the Record component is defined as Format = Explicit and Component
Syntax = Fixed
B. The File component is defined as Format = Explicit and Component Syntax =
None; the Record component is defined as Format = Explicit and Component
Syntax = None
C. The File component is defined as Format = Implicit and Component Syntax =
None; the Record component is defined as Format = Explicit and Component
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Syntax = Fixed. 
D. The File component is defined as Format = Implicitand Component Syntax =
Fixed; the Record component is defined as Format = Implicit and Component
Syntax = None

Answer: C 
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